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Name:

Natural Selection Lab- PhET Simulation
Instructions:

1. For each of the experiments, begin by adding a friend and let the simulation run for 2 trials.

2. At the F2 generation, pause and record data before adding the mutation. 

3. Let run for 2 more generations, pause and record, and add your selective factor.
4. Let run for another 3 generations and pause to record data.

5. Run simulation for 3 more generations.
6. Complete for each experiment.

Experiment 1: Effect of Fur Color on Predation by wolves / teeth and food availability

CONTROL – Just run for 10 generations, pausing to record data at each level
	Data Table 1
	Graphical Data
	Percentage Calculations

	Generation Number
	Number of Brown
	Number of White
	Total
	% Brown
	% White

	2
	
	
	
	
	

	4
	
	
	
	
	

	7
	
	
	
	
	

	10
	
	
	
	
	


I hypothesize that                                    rabbits will be                            likely to survive ________________(type of selective factor) within the ____________ environment, because 
      
	Data Table 1
	Graphical Data
	Percentage Calculations

	Generation Number
	Number of Brown
	Number of White
	Total
	% Brown
	% White

	2
	
	
	
	
	

	4
	
	
	
	
	

	7
	
	
	
	
	

	10
	
	
	
	
	


Experiment 2: Effect of recessive allele in population.

Instructions: Follow the same instructions, but change the allele from dominant to recessive.

	Data Table 1
	Graphical Data
	Percentage Calculations

	Generation Number
	Number of Brown
	Number of White
	Total
	% Brown
	% White

	2
	
	
	
	
	

	4
	
	
	
	
	

	7
	
	
	
	
	

	10
	
	
	
	
	


What effect did a dominant mutation versus recessive mutation for fur color have on the selection of the bunnies? Why might this be?
Post-Lab Questions

1. Sometimes animals that are introduced into an area that they never lived in before, out-compete and endanger resident species, why do you think this happens?
2. If only one species is considered the "fittest", why do we still have so many variations among species. Why do some birds have very long pointy beaks, while other birds have short flat beaks?

3. How do you think diseases can affect natural selection?

4. In what ways does this simulation fail to represent the process of natural selection? Give a specific example.

